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O EPROM

@ EFd°]Bluray) txa

@ SRAM

@ DRAM
2. 2¥l(stack)ol] ek Aoz 2 &

FAl(push) Azl ojs HlolE &

3 U AR dolet A3

3. B4 Axdelq ojgma A5E UXd
AR o= Q4Ael g1 AEEYE 45
ddoz Faae W

4. OSI %z mdeA dolg g4 AF

(PDU : Protocol Data Unit)&=?
D HE(bit)

@ Z#(frame)

@ 7 (packet)
@

| A] 2] (message)
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#include <stdio.h>

int main(void)
{

int 1
char *str, ch;
str = buf;

forG = 0; 1 <= 20; i += 4)
{

ch = #++str;
}

return 0;

}

char bufl]="1234567890123456789012345";

Hn

printf("%c ", *str++);

135791 @ 159371
246802 @ 260482
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Akburst) &7 HEo A3het wWae?
D CRC(Cyclic Redundancy Check)
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Q@ ©4 FHE v E(parity bit) AAF
@ FEC(Forward Error Correction)
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YL Y RES nAE ol gt

O g C=0d W, 28 X=0,Y=0,2=0
O 9 B=0cjxL C=19 |, 24 X=0,Y=0,2=1
Je B=10]2 C=1d |, 8 X=A Y=B Z

O X=AC, Y=BC, Z=C

@ X=A'C,Y=BC z2=C
@ X=ABC, Y=BC Z=C
@ X=A'BC, Y=BC zZ=C
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. CASE(Computer-Aided Software Engineering)ll th

¥ %3] (inorder traversal)et
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F719 AA B

A=(signed) 271

tjo

Yeld Aolt}. HRRN(Highest Response Ratio Next) 2=7&#

FYFS AT o, $HES} Y B TRA2E?

(9] g x)
Z2H 2 7] A7t MuE| 2 A7
P1 10 5
P2 12 4
P3 8 12
P4 15 3
@ P1
@ P2
@ P3
@ P4

L Z2A2 Prh 49 FHE Hol 9o} fE ZEAsbl

o $HxoR Fuo] ZRAX P7F ALHOR CPU 834
ZIvteHA FR A Soke AdEE?

@ 2l (deadlock)

@ 7]opd el (starvation)

@ 774 el (race condition)

@ Az A (mutual exclusion)

3
2
D 3H
@ 683
@ 126
@ 466
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import java.util.Stack;

public class StackDemol {
public static void main(String[] args) {
Stack< @ > stack = © Stack<>();
stack.push(”java”);
stack.push(”stack”);

stack.push(”demo”);

~© popResult = stack.pop();

System.out.println(popResult);

popResult = stack.pop();

System.out.println(popResult);

popResult = stack.pop();

System.out.println(popResult);

}
}
a o ©

@ String new Object

@ Object new char

@ Object create String

@ String create String

WAL 71974200 et Aoz &2 o2 A2

@ 27K ool Hllevel) & 7HA= A 725 7M. & dth

@ A3 APdH(direct mapping) A& AHEE 79, A WA
(replacement) ¥Lzl5o] 23t}

@ 27) WY (write buffer)= ZA| 2:7|(write-through) 7HA]
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